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Part-1411-1
General Knowledge, General Studies and General Hindi/&H T, "M €I R T =
1. fra-frasam et 52 ? — 38 are e o fohd 9g 1 A g3 g 7
(a) TAsTaTers e (b) AT T
(c) TrE-EETEe ToM (d) TreeET=s o™

2. fTefafed i@ a1 ves dag wee g 7

(a) I (b) Heft (c) 3= (d) R
3. ‘S’ rec U G I § 7

(a) (b) 3 (c) d 3
4. Tr=fafea o @ fora weg &1 afu-fose amg & 2

(a) 3fer— 319 + for (b) 3= — 319 + 37

(c) T —%: + T (d) I —IAM: + T

5. fr=fafad @9 % 91w e foft’ w1 et s g 7
(a) 9™ (b) <R (c) 94 (d) wmaT

6. T=fafiga § 9 % 91U e amiyes’ w1 faam wse 2 7

(a) TfEdh (b) i (c) fEash (d) uTfereR
7. S S R UET O STEt Rl — 3 ST o [Tt Ueh vieg FEfciReqa H A M AT g ?
(a) etz (b) 3rchifs=
(c) U= (d) T
8. ‘31U HI A erel 1 U 37 7 —
(a) ATBAT (b) TS ThL AT
(c) 3 HHAS BT (d) THUT TN
9. IHNU-TIM % IMUR W ‘%’ eafy Feaferfiga # @ fopm ot o 3=l 3l 8 2
(a) Toreamgefia (b) T
(c) & (d) drered
10. F=fefad o @ Tifvds e SR EH R ?
(@) & (b) T (c) (d =
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11. Who was the first Chairman of the First Administrative Reforms Commission constituted in

1966 ?
(a) Dr. V.P. Rajamannar (b) K. Hanumanthaiah
(c) M.C. Setalwad (d) Morarji Desai

12.  Which of the following Articles of the Indian Constitution vests the State Election
Commission with the power of superintendence, direction, control and the conduct of all

elections to the Panchayats ?

(a) Article243 D (b) Article 243 J (c) Article 2431 (d) Article 243 K

13. In which of the following matters does Rajya Sabha has equal powers with Lok Sabha ?
(a) Creation of new All India Services (b) Amendment in the Constitution

(c) Removal of Government (d) Making Cut-Motions

14.  Which one of the following neighbouring countries shares its maximum border with India ?

(a) Nepal (b) China (c) Bangladesh (d) Bhutan

15. Centre for Social Forestry and Environment is located at :

(a) Dehradun (b) Bengaluru (c) Allahabad (d) Jabalpur

16. Which of the following is largest producer of thermal electricity ?
(a) Madhya Pradesh (b) Rajasthan
(c) Uttar Pradesh (d) Maharashtra

17.  Which one of the following is the longest Glacier in India ?

(a) Gangotri (b) Hispar (c) Siachen (d) Biafo

18. Who among the following is appointed Brand Ambassador of ‘Beti Bachao, Beti Padhao’

campaign of Uttarakhand government ?
(a) Ekta Bisht (b) Anukriti Gusain
(¢) Rajni Dhami (d) Vandana Kataria
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11.

12.

13.

14.

15.

16.

17.

18.

FrefeiRed ® 9 M 1966 T TSd U SRIEeh GER TR o JUH T8 9 2
(a) S .. TR (b) . TIEA
(c) W.Hi. Hiqeere (d) AR <ETs

AT Afae™ 61 F=fiied 8 9 & |1 31w U9 g™ SR i J=rdi o a¥t gamEi o
srefieror, frésm, Frsror qen g shi sifed Tem whtan & 2

(a) 3T=8G 243D (b) =BG 243J  (c) 3= 2431 (d) 3T=WE 243 K
frferfigd 5 O o amel 1§ TSI <] ATREHT & 99 Sifedal 9T & 2

(a) T2 RIS TR AA13 T T (b) Tl o FIMYA HEAT

(c) TTHR Dl FIAT (d) HId-TEdTd T

a1 & 91 Fefefiga o e 5 9 s 1at g=8 31ftes i gren s g 2

(a) uTed (b) == (c) STeTe™t (d) ¥eH
GTTTSeh STf-eh! Td qaaN oheg fRd 3

(a) <gUed | (b) STeTe § (c) SATEETE H (d) SToeTR d
1 9 9 o1 waifaes am fosga 1 3camesh & 2

(a) AL U (b) USEIH

(c) ST I (d) AEWY

Trafaftaa 0 9 = 91 fgve yra 0 aeg @w 8 2
(a) AT (b) femm (c) Taafm (d) e

IAEE AR g ‘T FA137 9t Ugral’ SRR 1 siie rreaet = 4 & fongy frgem fopam

TS ?
(a) T farg (b) IFFHF TETE
(c) TSI gmt (d) TG STt
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19.

20.

21.

22.

23.

24.

25.

Swadesh Darshan Yojana-2.0 includes which of the following two districts of Uttarakhand state ?
(a) Nainital and Haldwani (b) Champawat and Pithoragarh
(¢) Dehradun and Rudrapur (d) Haridwar and Paudi

During Arogya Manthan Programme 2023, organised at New Delhi, which among the

following Indian States won the award in the category of “Highest Ayushman Card

Creation” ?
(a) Sikkim, Rajasthan and Kerala (b) Karnataka, Goa and Bihar
(c) Odisha, Jharkhand and Punjab (d) Assam, Nagaland and Jammu & Kashmir

As per the India Ageing Report-2023, released by the United Nations Population Fund, in
September 2023, what of the following percentage of India’s population is expected to be
elderly by 2050 ?

(a) More than 25 percent (b) More than 20 percent

(c) More than 30 percent (d) More than 27 percent

Which of the following countries is developing world’s most powerful laser called
VULCAN 20-20 ?

(a) South Korea (b) United States of America

(c) Taiwan (d) United Kingdom

Which queen of Garhwal became famous as ‘Nakkatti Rani’ ?
(a) Rani Durgawati (b) Rani Padmavati

(c¢) Rani Lilawati (d) Rani Karnawati

Which Chand ruler had started silk production ?
(a) Atmchand (b) Poornachand (¢) Sansar Chand (d) Indra Chand

Rawai episode was an important event occured during the reign of which ruler of Tehri

Kingdom ?
(a) Pratap Shah  (b) Kirti Shah (c) Manvendra Shah (d) Narendra Shah
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19.

20.

21.

22.

23.

24.

25.

TS €3 ASHT — 2.0 T ITUEe T o 9= 1 9 fora @1 et =1 snfae feran g 2
(a) FraTeT 3R gegH (b) =uTed 3R fueinTe
(c) SBUGH 3T TEL (d) BRGR 3R

% feoett B SRS ST T2 — 2023 SHTIsHE & SR e 8 & foha T2l 3 Taiferes STgsae
e fwior Soft § queshr Sfiar 2

(a) Tofern, oM T e (b) SHHTeeh, T qer faEr

(c) 3TN, FEs qo IS (d) 378, AMTICTE T ST TF HHR

e 2023 H Ty TP FEEI IS R SRT fomet T 3feanm ufohm Rt — 2023 & I9aR, a9
2050 T WA <ht 11 T A Feret wfererd S o S 8F 1 GuTeHT 8 2

(a) 25 e & 3Afereh (b) 20 e & 3Afereh
(c) 30 Sfcsma | At (d) 27 gfasra | At

= 1 9 o a1 2w fava w51 gatfies sifedselt AR ‘Geehd 20-20” farfaa s @ 2 2
(a) gferor shifeaT (b) HIHR T ITHHT
(c) dTEaN (d) IT3eE Tohren

1k gl T b T T Tl shi i T T Ifg 55 8 2
(a) T grTieret (b) T Tl
(c) T Aetrerd CREIEICKII

for® T ShTct SMEeh o LM IcTeH 1 T I foma 2

(a) TG (b) qoTeg (c) TS (d) 3595

ars w1vg fead femad o fora SImees & et 61 @ ged off 2
(a) STTH & (b) <hifct e (c) WIFels 28 (d) 5 9T
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26.

27.

28.

29.

30.

31.

32.

33.

34.

At which place did Chand ruler Rudrachand meet Akbar personally in 1588 ?
(a) Agra (b) Delhi (c) Ajmer (d) Lahore

Which one among the following is not a love story of Uttarakhand ?

(a) Haruheet (b) Motiya Sen (c) Rami Borani (d) Garh Sumyal

Who is the writer of the book ‘Rock Art in Kumaun Himalaya’ ?

(a) Shiv Prasad Dabral (b) Yasodhar Mathpal

(c) Brijwasi Lal (d) None of the above

‘Lohsar’ festival is celebrated by the Zad tribe of Uttrakhand on the day of —

(a) Basant Panchami (b) Diwali

(c) Holi (d) Dusshera

Which of the following districts has the lowest literacy rate as per Census, 2011 ?

(a) Tehri Garhwal (b) Udham Singh Nagar
(c) Uttarkashi (d) Bageshwar

On which of the following rivers Koteshwar Dam is constructed ?

(a) Alaknanda (b) Mandakini (c) Pinder (d) Bhagirathi

Which districts of Uttarakhand recorded negative population growth during 2001-2011 ?
(a) Pauri Garhwal and Almora districts ~ (b) Pauri Garhwal and Tehri Garhwal districts

(¢) Almora and Tehri Garhwal districts ~ (d) Almora and Bageshwar districts

Mukhyamantri Mahalaxmi Yojana of Uttarakhand is related to :
(a) Livelihood of women (b) Girls’ scholarship
(c) Safe motherhood (d) Women hostel

Uttarakhand has allocated the percentage share of its total expenditure on education in
2023-24 is —

(a) 14.1 percent (b) 16.6 percent (c) 17.5 percent (d) None of these




26. TorT T WX 3ToheR H T U1 S5 4 1588 H SAferdiId &9 & e h oft 2

(a) 3R (b) Teoett (c) IR (d) ATER
27. U9 SN ST@ve i 9o e g g 2

(a) TEA (b) Hifer &4 (c) T smoft (d) e grITe
28. “Ueh 3T 3 FUS, AT’ J&deh b TG M & 2

(a) @ v sae (b) ISMER HIUTA

(c) SITaTE AT (d) Iuerd | T HIE TE
29. Sdu{ewséﬁ NI \ﬂ"l\’lllfa G ARG A AATAT ST %—

(a) S~ G o fed (b) feareft & fem

(c) Erefi < fed (d) e = fe
30. SHIUAT, 2011 % IR, e § @ fopm Sug § w98 Y T1edr € 2

(a) fegd Tgate (b) IuHiEE TR

(c) JATHEA (d) STITeR

31. =89 forg 98 ey sty fAffa 2 2
(a) JFAADA< (b) Terfeht (c) Touet (d) wmfieft

32. ITREVE o foh STIET H 2001-2011 3 SR FOTTeHh SIHEEAT (g &1 hl 715 2
(a) TS TRt 3R ITeHIST SIS I (b) T TgaTd 3R fegd TeeTer SHue |
(c) ITemreT 3R foad eater sue d (d) ITCHIST 3T FEYER S9e H

33, IWEE H JEIE! HETaiEH! JIsH1 e g :
(a) Hfgenati 6t Ashifeest @ (b) STfcTeRT3Tl <l BEGR &
(c) GUl&ra wigea & (d) Tl SHEE™ &

34, ITAUEES A 2023-24 T 3194 FoT 5 b1 fehe1 ferara fream o forw srraifed fopam & 2
(a) 14.19f=@  (b) 16.6 Sfasra (c) 17.5 wfasra (d) 39 T ®Ig T
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35.

36.

37.

38.

39.

40.

41.

Which one of the following tribes is socially and educationally the most backward tribe of
Uttarakhand ?

(a) Bhotia (b) Jaunsari (¢) Tharu (d) Raji

When was ‘Mera Gaon, Mera Dhan’ Yojana launched in Uttarakhand ?
(a) 2012 (b) 2013 (c) 2014 (d) 2016

Which of the conclusions logically follows from the statements given below :
Statements : Some kings are queens.

All queens are beautiful.
Conclusions : 1. All kings are beautiful.

II. All queens are kings.

(a) Only Conclusion I follows. (b) Only Conclusion II follows.

(c) Both Conclusions I and II follow. (d) Neither Conclusion I nor II follows.

Which number is not related in the following number series ?
2,8, 20, 44, 92, 184, 380
(a) 44 (b) 92 (c) 184 (d) 380

The following numbers are given :
517, 325, 639, 841, 792

These numbers are arranged in descending order after reversing the positions of the digits
within each number. Which digit of the third number from the top will be at the unit place ?

(a) 2 (b) 3 ) 5 (d) 7

In a class of 60 students, where girls are twice as that of boys, Kamal ranked seventeenth from
the top. If there are nine girls ahead of Kamal, how many boys are after Kamal in rank ?

(a) 3 (b) 7 c) 12 (d) 13

Pointing to a man, a woman said, “His mother is the only daughter of my mother”. How is
the woman related to man ?

(a) Mother (b) Daughter (c) Sister (d) Grandmother
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35. TafafRaa o @ wH @t v SaeTia Tt Ta i 9 9 ITUEvs i U gad s s
22
(a) Wifed (b) ST (c) I& (d) Tt
36. ITAEES H B TS, B €4 IS 61 EITT el hl T8 2
(a) 2012 (b) 2013 (c) 2014 (d) 2016
37. i feu T SRt @ difhes ®9 & i a1 frspy fererar &
HY : FS TS, AHATE |
oft Tt gt 2 |
frep L oft T gt |
1L & gfat, T g |
(a) ohao fspy [ FeharaT 2 | (b) haet s 11 fshera 2 |
(c) T fshs [T 11 fFhetd § | (d) 7 Frshs 17 € Fshs 11 Feperar 2 |
38. = & T T Aot §, S o we wrf TE f 2
2, 8,20, 44, 92, 184, 380
(a) 44 (b) 92 (c) 184 (d) 380
39. TRpsaEdATEE:
517, 325, 639, 841, 792
Tceh AT % 37eh] ol T 3¢ i o §1C YTod GEATHAT bl TR shH H SHAERIT i T HI
T L) T 1 ShTS Bl 37k IT BN 2
(a) 2 (b) 3 () 5 ) 7
40. 60 Tt <t weh e H, &t Tefohal hl T cigeh h! T | ST 7, HHA i TIH FH
T gyl 2 | Al A Tsiohal shiet 8 311 2, 1 Ut o d1¢ fohdd oIS & ?
(a) 3 (b) 7 () 12 d) 13
41, Toret gow <At 3T 39T T TU, Teh HigeN shadl 2, “IHeh! AT, Tl AT 1 3eheiic! T 7 17 AfgeT,
%Y 9 fohd TRRR TraIfera 8 2
(a) @ (b) Tl (c) &= (d) @l
e - Ty



42.

43.

44.

45.

46.

47.

48.

49.

50.

Which of the following is not a second generation computer language ?

(a) FORTRAN  (b) ALGOL (c) CH (d) COBOL

The thickness of thin wire can be measured by
(a) Vernier Callipers (b) Screw Gauge

(c) Resonance tube (d) Spherometer

Human skull is composed of how many bones ?

(a) 08 Bones (b) 14 Bones (c) 22 Bones (d) 24 Bones

Raisins put in water, swell up after sometime due to which process ?

(a) Diffusion (b) Endosmosis (c) Exosmosis (d) Imbibition

How many types of slaves have been mentioned by Kautilya during the Mauryan period ?

(a) 4 (b) 7 ) 9 (d) 10

In Mughal period ‘Mujarian’ word was used for —

(a) Farmers (b) Slaves (c) Spies (d) Traders

Which of the following had been called as the ‘Nursery of Bengal Army’ ?
(a) Murshidabad (b) Munger (c) Delhi (d) Awadh

Who among the following had invited the delegates of the Calcutta session of the Congress
in a garden party ?

(a) Hume (b) Minto (c) Dufferin (d) Chelmsford

Who among the following has the credit for producing the first draft of the Constitution for

the consideration of the Drafting Committee ?
(a) Dr. B.R. Ambedkar (b) B.N. Rau
(c) H.V.Kamath (d) K.M. Munshi
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42.

43.

44.

45.

46.

47.

48.

49.

frafrfiad @ @ M € gudt it 1 srager W E 2 2
(a) BREH (b) T (c) i (d) e

Teh Ul R <hl T1ETS forereh g1 AT 7T Hehel B ?

(a) TR hfoad T (b) ST A
(c) AT | (d) TR T
g @IS fra sfggi @ s Bt 8 2

(a) 088 ®  (b) l14&lEA | (c) 228fea ¥ (d) 24&fgai @

TepeTfireti 1 U § T W $© THT H | AT &, T AfhAT b €I 7 2
(a) fergmor (b) 3T TTE (c) Sfg:oRTERo (d) 3= 30T

hifeed o HRIehTel § fohde TR 5 T oh1 90 fopaT 8 ?

(a) 4 (b) 7 ) 9 (d) 10

TTeTehTcl H ‘G 316G o1 SN 3T & —
(a) FUhih e (b) I fol (c) TwTe % for (d) =AITRET & ot

e 1 g ford STt 31T <A NIt shal STdT ot 2
(a) gRfersTe (b) IR (c) feoett (d) 3aY

frfefigd 9 @ e 09 & shetehd AREEH & SR 1 T 3T= 919 § 3mHEiEa T
a1 ?

(a) & OREE (c) THIE (d) ==®RE
50. ST&Y Gt < foamrel dfaem 1 g TET Sqd S S 3 fefaRad O | fee e g 2

(a) Sf. &3, e (b) ST, T

(c) Ta.dl. Hmy (d) .wm. guht
e . TG



Part-2
Subject Based

51.  Which of the following method is used for milking of animals with small teats ?
(a) Knuckling (b) Stripping (c) Fisting (d) None of these

52. Indian breeds of cattle in comparision to exotic breeds of cattle have
(a) more tolerance for diseases. (b) more tolerance for heat bearing.

(c) less milk production. (d) All of the above

53. Embryo transfer technology is not routine breeding technique due to following reason :
(a) Highly expensive (b) More labourious
(c) Involves many steps (d) All of the above

54. Which of the following is not a rapid platform test for raw milk ?
(a) Specific gravity (b) Clot on boiling
(c) Standard Plate Counts (d) Titrable acidity

55. Total digestible nutrients in maize grains are

(a) 35 percent (b) 50 percent (c) 62 percent (d) 85 percent

56. Transport of milk depends on which ?
(a) Amount of milk (b) Distance of collection

(¢) Local conditions (d) All of the above

57. Which of the following is post-parturient disease of cattle ?
(a) Milk Fever (b) Ketosis (c) Both of these (d) None of these

58. Which stage is of the shortest duration in oestrus cycle of cow ?

(a) Pro-oestrus (b) Oestrus (c) Metestrus (d) Diestrous

59. In computation of ration for cattle, proportion of roughage and concentrate for dry matter
allowance should be

(a) ;— roughage & ;— concentrate (b) i— roughage & % concentrate

(c) % roughage & ;— concentrate (d) % roughage & i— concentrate
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-2

T smenfa
51. T 5 9 o Qe 1 i = Tl o1 o 3t aggsti § s o @ S 7 2
(a) 3TTST TR Gl (b) Th! GRT qre
(c) T3 g Qe (d) 3T A H1E T

52. W % shi T H forgeft 7% <kt T <ht gorT |
(a) SAT0 H& o < e 3feres 2 | (b) T HET HT T &HeT 3T B |

(c) U 3ATGHATHAE | (d) I7ierd |t
53. U7 SAMT=ROT qehrileh S o HTHT-IA: S | 81 1 R &

(a) 3TCAT & BT (b) 31fr1ep om Y STTETIRAT

(c) S = | BT (d) ST Tt
54. T 1 9 HH A1 e O T TR ST ATt 1S wieh wie T8 @ 2

(a) TMUfeTes T (b) IS I YFhT THAT

(c) | &I TUHT (d) STHHETI TR ST
55. W1 o GHI H ol T= 13 4190l fehdHT BT & 2

(a) 35 gfawa (b) 50 Tfersra (c) 62 gfawra (d) 85 Tfasrd
56. gY %1 uREE fobd InR i 3 2

(a) QU HET T (b) TeHAT I gl W

(c) TR uftfeafa ™ (d) I9Tert Gt
57. T o @ yEE & 91¢ TR A B aTef! SR E EH R 2

(a) ISR (b) Hreife (c) B QM (d) 7 & rE
58. TR o Hedsh bl fafi=T Jreenati § ged %u iy fhasht 2t & 2

(a) E-TGHA  (b) HEHA (c) 3T HehIA (d) U¥ AEEhTA

59. T U3} o UM hi TUMT H 6 54 o R T G oh1 AT 1 &1 ATied 2

(1) L =msie L e ) L =mrafk
2 2 4 4

) 2 =i L em @) 2 =mai L e
3 3 4 4
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

Calf is fed colostrum at the rate of
h h
(a) %t of body weight (b) %t of body weight

© %th of body weight ) %th of body weight

Indian Grassland and Fodder Research Institute is located at which city ?

(a) Hissar (b) Mathura (c) Bareilly (d) Jhansi

India is free from which animal disease ?

(a) Rabies (b) Anthrax (c) Rinder pest (d) Tuberculosis

Which of the following chemicals is used for chemical dehorning in calves ?
(a) Sodium chloride (b) Sodium nitrite

(c) Caustic potash (d) Calcium chloride

Which of the following milk product needs maximum amount of milk for its production ?

(a) Paneer (b) Ghee (¢) Curd (d) Ice-cream

Which of the following is considered as milch breed of Indian cattle ?

(a) Gir (b) Kankrej (c) Kangayam (d) None of these

How much additional amount of concentrate ration is required for every 2.5 kg of milk in
Zebu cattle ?

(a) 0.50 kg (b) 0.75 kg (c) 1.00 kg (d) 2.00 kg

The most common adulterant of milk is

(a) Vitamins (b) Minerals (c) Water (d) Urea

Which amongst the following is not a zoonotic disease ?

(a) Brucillosis (b) Rabies (c) Tuberculosis (d) Milk fever

Which amongst the following is not a breed of buffalo ?
(a) Murrah (b) Bhadawari (c) Jaffrabadi (d) Hallikar
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

S I foh 3TUTa § Wi foretmn ST g 2

(a) YRR W T %th (b) IR W T %th

(©) mﬂtwamz_lo (d) mﬁtwamz_ls

I BT T <R e T e sret 3 fevra & 9

(a) femm (b) 7Y (c) et (d) e

A ShIF & q3] S & g9 & 2

(a) TSt (b) T ORLS (d) TITFAEE

frfoTitad W@RET H § T8 WRA 1 T Soel § TEmEHes foafY gr faspfiertor 4 fora Sar
22

(a) HIfETH FANTES (b) fezm TEeTEe

(c) I T (d) Ffeaad FIRES

1 1 9 fopwreh Icare H U <hl el SHTQT WA 31 YA fohT STl @ 2

(a) TR (b) (c) <&t (d) 3TgEshA

fefetiiad 3 9 foreeh! Wi TR 3h1 GUTE ST FHT ST & 2
(a) TR (b) IS (c) HTEH (d) 3T A HIE T

Y e (TR TTRT) | ek 2.5 Toh. 1. v Ieared o fordt ferarll w1 4 sftfer €15 3R
1 FETIHAT Bl 8 2
(a) 0.50Tk.m.  (b) 0.75 k.o (¢) 1.00 f.am. (d) 2.00 f.7m.

<9 ¥ fircTTae 3 e ST ATl ged =t wered o R 2

(a) forerfm (b) forreet (c) (d) e
o 3 & o ot S e S e 2 2

(a) gfeefeE ORCIE

(c) TSl (d) g

e 5 & e oft o o wenfa T R 0

(a) H (b) wereld (c) STHTETE! (d) Beett
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70. Starter ration contains protein.

(a) mild (b) high (c) little (d) no

71.  Which breed is a dual purpose breed of Indian cow ?
(a) Hariana (b) Sahiwal (c¢) Gir (d) Red Sindhi

72.  Which of the following cultivated fodder is not a cereal ?
(a) Oat (b) Berseem (c) Bajra (d) Maize

73. Female sex hormone progesterone is secreted by which organ ?
(a) Endomatrium (b) Cervix

(¢) Corpus luteum of ovary (d) Secondary ovarian follicle

74. The average volume of semen ejaculate in bull is about

(a) 0.6ml (b) 6ml (c) 60ml (d) 160 ml

75.  After pasteurization the milk is immediately cooled to

(a) Lessthan 10 °C(b) 10—-20°C (¢) 20-30°C (d) 30-40°C

76. Equilibration of diluted semen is carried out at which temp. ?

(a) 0°C (b) 5°C (c) 10°C (d) 15°C

77. Lactose in milk is called

(a) Milk sugar (b) Milk protein (c) Milk lipid (d) Milk enzyme

78. Thiamine is the other name of

(a) Vitmain-B (b) Vitmain-B, (c) Vitmain-B,, (d) Vitmain-B,

79. The Zebu cattle is characterized by
(a) large hump
(b) long face with upright horn & drooping ears
(c) slender legs and large dewlap
(d) All of the above
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70. VI (Td e 3 M 8ar g —
(a) 5H (b) SEITEl (c) TSl (d) &

71, WA T <hl bl E T&A glehlsi 75T & 2
(a) BT (b) TTEETA (c) fir (d) 1 faeft

72. 99 U QI 91 SR SH 91T =S 3N T8 8 2
(a) (b) sHH (c) S (d) TRT

73. HTel 999 M TNERH = 3 9 forges gra gnfad foram sirar 2 2

(a) TOSH(ZEH (b) @i
(c) SIS & HIUg ogfeam o (d) TSI & Hh-gl Bletiiehet gRI

74, Hie H WgeH o g0 I o1& <h1 3 A fera Bt @ 2

(a) 0.6 Tt (b) 6., (c) 60 fir.=f. (d) 160 fur=ft.
75. URHUSSITH 91 U %! qd o8l fohT STl 2
(a) 10°CEHAT  (b) 10-20°C (c) 20-30°C (d) 30—40°C

76. TIHhd ST T Y[R i qToHT W fohar ST & -

(a) 0°C (b) 5°C (¢) 10°C (d) 15°C
77. QYT W I FATHad @ ?

(a) TUIRT (b) U IEH (c) g =si (d) U TS
78.  URITHH HGEUAHE |

(a) fqafimsf, (b foerfim-h, (c) Terfmsh, (d) forerfimsh,

79.  Sie waeft TR ST TRt S R 2
(a) SSIHSS
(b) & =g, e FHi 3R geh g HH
(c) Aol I 37 T o it ieft =
(d) Iurerd qeft
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80. The lactometer is used to detect
(a) Adulteration of milk with water
(b) Adulteration of ghee with vanaspati ghee
(c) Adulteration of milk with neutralizer

(d) Adulteration of milk with detergent

81. Giris a breed of which animal ?

(a) Cow (b) Buffalo (¢) Goat (d) Sheep

82. Which of the following hormone is secreted from pancreas ?

(a) Oxytocin (b) Insulin (¢) Adrenaline (d) All of these

83. The average length of estrous cycle in cow is

(a) 21 days (b) 16 days (c) 30days (d) 11 days

84. The average length of gestation period in cow is

(a) 336 days (b) 282 days (c) 316 days (d) 391 days

85. In which of the following animals stomach is divided into 4 compartments ?

(a) Cow (b) Horse (c) Dog (d) Pig

86. Fat content in butter is normally

(a) 81% (b) 20% (©) 99.8% (d) 31.2%

87. What is the brand name of dairy products of Uttrakhand Cooperative Dairy Federation ?

(a) Parag (b) Aanchal (c) Mother Dairy (d) Saras
88. Milk contains percent of water.
(a) 84—-86.4 (b) 60.02 (c) 50.65 (d) 92.86

89. Who was the father of white revolution in India ?

(a) Herbert Mayer (b) Verghese Kurien (c) Amrita Patel (d) M.S. Swaminathan

90. What is the best crop for silage making ?
(a) Maize (b) Cow-pea (¢) Lucerne (d) All of these
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80. M kT IuA I | B forErent Uat T <6 foTu fepam SiTa 2 2
(a) 94 9T I et
(b) = T ety =i 6 firetmee
(c) Y T =TSSR 6! fireTrae
(d) g T feesie i firamae

81. TR foruehl T&ci & 2

(a) T (b) Ha (c) =il (d) %
82. T=failgd ¥ & & O gMH =™ (Y=RaTST) O AT BT 8 ?

(a) ATFERE (b)) oM (c) UfgTefa (d) I8 aft
83. T T Hewsh hl 3MHd w8 fohad fea H Bt 2 2

(a) 21fe (b) 16 fea (c) 30fe (d) 11fe
84. T T MR I 3NEd et fera Bt 2 2

(a) 336 T (b) 282 fe (c) 316fe (d) 391 fem
85. T 1O forg IR 1 U IR W H 2T BT 8 2

(a) T ORIE (c) P (d) g3W

86. HHTId: WG H @ shl AT fehat B & 2
(a) 81 gl (b) 20 Ffasrd (c) 99.8 fawra (d) 31.2 fasra

87. ITEUS -3 ST HSEH % Y I I FUE TH FAT 2 2
(a) W (b) A= (c) HeLsh (d) &=

88. vl 7 b i A BT B 2
(a) 84— 86.4 (b) 60.02 (c) 50.65 (d) 92.86

89. LA H ToId Shifd oh fUdT o &9 H§ fehehl SITHT ST & 2
(a) BIEE W (b) s piEA (c) 3THaT9eH (d) TH.TE, WrHATeH

90. HEAS s & o7 T8 399 BHA HH H1 8 ?

(a) HahT (b) eifern (c) Tteht (d) I8 g+t
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91.

92.

93.

9.

9s.

96.

97.

98.

99.

100.

Which of the following is an accessory sex organ of male reproductive system ?

(a) Urethra (b) Penis (c) Prostate gland (d) Epididymis

In very good quality raw milk bacterial count per milli litre milk should be
(a) Not more than 2,00,000 (b) Between 2,00,000 to 10,00,000
(¢) Between 10,00,000 to 50,00,000 (d) More than 50,00,000

Which breed of cow has tiny curled leaf like long pendulous ears ?

(a) Gir (b) Sahiwal (¢) Tharparkar (d) Deoni

Average gestation period of Buffalo is

(a) 290 days (b) 270 days (c) 310 days (d) 330 days

Deficiency of which of the following trace mineral can cause anaemia ?

(a) Iron (b) Copper (c) Cobalt (d) All of these

For identification of animals, which method of branding is used ?
(a) Hot iron branding (b) Cold iron branding
(¢) Chemical branding (d) All of the above

Outdoor exercise with exposure to sunlight provides which vitamin to the animals ?

(a) Vitamin-A (b) Vitamin-D (c) Vitamin-C (d) Vitamin-E

Cow should normally expect to expel placenta within following hours of parturition :

(a) 2—4hours (b) 8 —12 hours (c) 12— 18 hours (d) 15— 18 hours

Which of the following fodder is maintenance type of roughage ?

(a) Barseem (b) Jwar (c¢) Lucerne (d) Cow-pea

Calf starter ration is given to the Calf from the following age :

(a) 10™ day (b) 15" day (c) 25" day (d) 30% day
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91. = U8 I 7 BT TEH A T HH TS 2

(a) A (b) T (c) R Ty (d) rfergemT
92. wga 3=t Avft < e gy H Sfamyy wen wfh fir.oft. fhat gt 2 2

(a) 2,00,000 T 3ferep & (b) 2,00,000 F 10,00,000 % &t

(¢) 10,00,000 T 50,00,000 % sfi= (d) 50,00,000 & 31feres

93. T h fordl TEA H U TU BIC Tl o HHM TTeh 53 oFel M 8Id & ?
(a) R (b) ETEET (c) UTAREH (d) <t

94. Y 1 3NEA TR fohaT B 2
(a) 290 feq (b) 270 fem (c) 310fe (d) 330 T

95. T7m1 4 @ ford qem @i 1 ht | TR 81 wehat § 2

(a) W&l (b) dfan (c) whiETee (d) 3T aft
96. T3 <l UgTH &g = § | A T grH i fafer 1o ST g 2

(a) T &Tg | gEET (b) VS AR & EEMT

(c) T Yerdt ¥ gl (d) Ik gt

97. U] STETH < ST, T o TehT™ <ht ufeurfa § S HEH & qsi ol HH a1 faerte e
22
(a) Toerfim-A (b) ferfim-D (c) Taerfim-C (d) faerfim-E

98. IHIA: T i A o foha T2l &1E deh S bl FTRT <1 =TTy 2
(a) 2-4782 (b) 8-1252 (c) 12-18%2 (d) 15-18®1¢

99, o= 49 & 91 9 Siteq e ThrR I I g ?
(a) SEM (b) AR (c) Tt (d) eAfer

100. SBSI I % L IER A= 35 8 fearsman g -
(a) 104 feq (b) 154 fe (c) 254 fea (d) 304 feq
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